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RECENT PROJECT #1 
Objective 
 To build a LTV5 Model based on sales transaction data from 
Dec., 2006 – Dec., 2011 

 The window of Sep ’08 – Aug ’10 is for defining the ATTRITION 
and LVT5 variables 

ATTRITION = 1 if there are no sales in the monthly window 
                    = 0  if there is at least one sale in the mos wndw 
LTV5  = LVT2*2.5 where LTV2 = total sales in the mos wndw 

 In addition to monthly sales, which reflect few big-ticket items 
and many $0s, the three basic variables are also put in play for 
machine-learning data mining (Predictors are defined in Dec ‘06 – Aug ‘08): 

1. RECENCY  = last month in which a sale occurrence was observed for a rep. 
2. TRX           = total number of monthly sales transactions observed 
3. BEGYR      = first year in which a sales occurrence was observed 

 

Dec ‘06 Sep ‘08 Aug ‘10 Dec ‘11 



Identification of the Relationships that 
Define Attrition(=1-Retention) and LTV5 

  Machine-learning data mining identifies surprising 
relationships 

 
    ATTRITION_var =  RECENCY 
                                   TRX*BEGYR 
 
               LTV5_var = TRX*BEGYR 
                                      RECENCY  

            
 



          x1 = TRX; 
              x2 = begyr; 
         x1= x1 * x2; 
              x2 = Recency; 
         If x1 NE 0 Then x1 = x2 / x1; Else x1 = 1; 
GenIQvar = x1;  
GenIQ_ATTRITION_probability = 1 / (1 + Exp(-(-1.681222 + GenIQvar * 2.162148))); 



 
    x1 = TRX; 
         x2 = TRX; 
              x3 = begyr; 
         x2 = x2 * x3; 
    If x1 NE 0 Then x1 = x2 / x1; Else x1 = 1; 
         x2 = Recency; 
              x3 = TRX; 
         If x2 NE 0 Then x2 = x3 / x2; Else x2 = 1; 
    x1 = x1 * x2; 
GenIQvar = x1; 
GenIQ_Profit_estimate = 92985.88 + 10.44172 * GenIQvar; 



Identification of the Relationships that 
Define Attrition(=1-Retention) and LTV5 

  Estimating the vars, we have 
 
           Logit_ATTRITION   = -3.8434 + (2.1622*ATTRITION_var)  
           PROB_ATTRIT_est = exp(Logit_ATTRITION)/(1+ exp(Logit_ATTRITION) ) 
 
                              LTV5_var   = (TRX*BEGYR)/RECENCY 
                 LTV5_estimate  = 92986 + (10.44172*LTV5_var) 
 
            

 





Please contact me. 
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